Amount	Item	price per yard	total
35.5 yards	Jeans	\$1.00 per yard	35.50
32.75 yards	Fine jeans	\$1.37 per yard	45.03
66 yards	Do	\$.88 per yard	58.08
29 yards	Do	\$.70 per yard	20.30
5 yards	Green cloth	\$3.00 per yard	15.00
5.5 yards	Blue cloth	\$3.50 per yard	19.25
11.75 yards	Do	\$4.00 per yard	47.00
16 yards	Do	\$1.75 per yard	28.00
10.25 yards	Do black	\$1.85 per yard	18.96
179 yards	Calico	\$.14 per yard	25.06
80 yards	Do	18.75 cents per yard	15.00
7 yards	do	\$.14 per yard	0.98
64 yards	dark Calico	\$.16 per yard	10.24
,		18.75 cents per	
49 yards	Red ditto	yard	9.18
113 yards	Blue do	\$.11 per yard	12.43
142 yards	Dark calico	\$.12 per yard	17.04
34.5 yards	Do	\$.10 per yard	3.45
20 yards	Dark calico	\$.15 per yard	3.00
161.5 yards	Do	\$.13 per yard	20.99
19.yards	Oiled [?] calico	\$.25 per yard	4.75
158 yards	Calico	\$.09 per yard	14.22
6 yards	Do	\$.16 per yard	0.96
5.75 yards	Do	\$.07 per yard	0.40
62 yards	Do	\$.07 per yard	4.34
84 yards	Do	\$.07 per yard	5.88
14 yards	Satinnett	\$1.00 per yard	14.00
5 yards	Do	\$.80 per yard	4.00
12.25 yards	ditto	\$.37 per yard	4.55
9 yards	ditto	\$.40 per yard	3.60
4.75 yards	ditto	\$.60 per yard	2.80
21 yards	Check	\$.20 per yard	4.20
13.75 yards	Do	\$.14 per yard	1.92
18.5 yards	Do	\$.10 per yard	1.85
31 yards	Ticking	\$.16 per yard	4.96
6 yards	Do	\$.18 per yard	1.08
14.5 yards	Camblett	\$.28 per yard	4.06
37 yards	Angola Cashmere	\$.17 per yard	6.29
40 yards	Do	\$.10 per yard	4.00
21 yards	Illegible	\$.20 per yard	4.20
30.5 yards	Constitution twill	\$.18 per yard	5.49

17 yards	Pittsburgh cord	\$.16 per yard	3.72
13.5 yards	Do cord	\$.19 per yard	2.56
17.5 yards	Bangup	\$.15 per yard	2.62
18 yards	Green flannel	\$.35 per yard	6.30
35 yards	Do	\$.30 per yard	10.50
20 yards	Factory cotton	\$.18 per yard	3.60
15 yards	Do do	\$.12 per yard	1.80
3 yards	Do do	\$.12 per yard	0.36
		18.75 cents per	00.75
5 yards	Do do	yard	93.75
5.5 yards	Super merino	\$.75 per yard	4.12
19 yards	Do do	\$.56 per yard	10.64
3.5 yards	Bombazet	\$.18 per yard	0.65
4 yards	Green baize	\$.32 per yard	1.32
3.25 yards	Canton flannel	\$.14 per yard	0.45
25 yards	Diaper	\$.22 per yard	5.50
17 yards	Do	\$.18 per yard	3.06
	Swans down	87.5 cents per	12.12
15 yards	vesting	yard	13.12
11 yards	Silk vesting	\$.50 per yard	5.50
3.75 yards	Do do	\$.50 per yard	1.37
5.75 yards	Dark do	\$.55 per yard	3.16
22 yards	Do do	\$.44 per yard	9.68
20 yards	Light do	\$.56 per yard	11.20
20 yards	Fancy gingham	\$.16 per yard	3.20
4.7 yards	Beaver [?]	\$.25 per yard	1.18
2.5 yards	Constitution twill	\$.18 per yard	0.47
8.25 yards	Blue cord	\$.16 per yard	0.40
8.25 yards	Do do	\$.18 per yard	1.48
2.5 yards	Canton flannel	\$.16 per yard	0.40
10.5 yards	Do white	\$.14 per yard	1.47
18 yards	Striped gingham	\$.15 per yard	2.70
13 yards	Do do	12.5 cents per yard	1.62
5 yards	Do do	\$.19 per yard	0.95
		12.5 cents per	
19 yards	Do do	yard	2.37
18 yards	Barred plaid	\$.16 per yard	2.88
24 yards	Striped muslin	\$.10 per yard	2.40
13 yards	Spotted muslin	\$.16 per yard	2.08
8.5 yards	Bearskin cloth	\$.70 per yard	5.95
17 yards	Blue Camblett	12.5 cents per yard	2.12
3 yards	Brown do	\$.25 per yard	0.43
F			

3.5 yards	Bangup	12.5 cents per yard	0.43
18	Bandanna handkerchiefs	\$.60 per piece	12.24
4	Silk do	31.25 cents per piece	1.25
	Cotton	\$.16 each tab	2.56
16	handkerchief	\$2.56	
50	Do do	\$.14 per piece	7.00
1	Do shawl	37.5 cents	0.37
20	Cotton handkerchief	\$.10 each	2.00
1	Long shawl	\$0.75	0.75
11	Pair socks	\$.25 a pair	2.75
1	Pair mittens	\$0.25	0.25
2	Prussian shawls	\$.44 each	0.88
4	Merino handkerchiefs	\$.62 each	2.50
18.5 yards	Rattinet [?]	\$.20 per yard	3.70
6	dozen Handkerchiefs	\$.25 each	1.50
6	Do do	37.5 cents each	2.25
17	Black silk do	33.5 cents each	5.66
16	Do do do	\$.42 each	6.72
6	Spotted [??]	\$.15 each	0.90
6	Book muslin	\$.20 each	1.20
13.25 yards	Figured book	37.5 cents per yard	4.96
18.5 yards	Figure do	\$.25 per yard	4.50
5 yards	Fine book	\$.50 per yard	2.50
6 yards	Do do	\$.44 per yard	2.64
6	Capes or collars	12.5 cents each	0.75
4	Children's caps	12.5 cents each	0.50
22.75 yards	Cambric	\$.25 per yard	5.68
12 yards	Do	37.5 cents per yard	4.50
15 yards	Jackonet	\$.32 per yard	4.80
8 Yards	Bobbinet	\$.33 per yard	2.64
2 yards	do	\$.50 per yard	1.00
8 yards	Flowered do	\$.60 per yard	4.80
4.5 yards	do	\$.40 per yard	1.80

9 yards	plain do	\$.16 per yard	1.44
20 yards	do do	\$.25 per yard	5.00
4 yards	Leno muslin	\$.12 per yard	0.50
12 yards	Lutestring silk	\$.97 per yard	11.64
12.75 yards	do do	\$.77 per yard	9.81
1.75 yards	do do	\$.75 per yard	1.31
20.5 yards	do do	\$.50 per yard	10.25
39.75 yards	Brown do	\$.50 per yard	19.87
Remnants		\$2.25	2.25
8 yards	Pink Florence	31.25 cents per	2.50
4.75 yards	Straw-colored do	31.25 cents per	1.48
9.75 yards	White do	\$.33 per yard	3.24
2 pieces	Gauze ribbon	\$0.78	0.78
2 pieces	Black Mantaw [?]	\$1.05	1.05
2 do	do do	\$0.20	0.20
1 set	ribbon	\$3.50 set	3.50
1 set	do do do	\$3.37 a set	3.37
1 set	Rich satin ribbon	\$1.17	1.17
1 set	do do do	\$3.75 set	3.75
1	Small box ribbon	\$2.75	2.75
1	Large box ribbon	\$5.00	5.00
3.25 yards	Crape	\$.50 per yard	1.62
.75 yards	Bordering	\$1.00	1.00
1 dozen	Moire [?] colored knots	\$5.00	5.00
9 pair	Gloves	\$.41 a pair	3.69
3 packages	White hose	\$2.00	2.00
9 pair	Worsted stockings	\$.41 a pair	3.69
	Gloves	\$3.00	3.00
1 piece	Of crape	\$0.75	0.75
10 bunches	White thread		2.50
30	Chalk lines	\$0.04	1.20
11	Small pocketbooks		1.00
2	Stocks	\$.50 each	1.00
7	Do	\$.62 each	4.37
8 pair	Kid gloves	\$1.50	1.50
	Gum Elastic		
3 pair	suspenders	\$.33 each	1.00
10.75 yards	illegible	\$.25 a yard	2.68

5.25 yards	Buckram	12.5 cents per yard	0.65
28 yards	Linsey	\$.46 per yard	12.32
9 yards	illegible	2.5 cents per yard	5.62
3	Plain cotton umbrellas	\$.95 each	2.85
7	Barred do	\$1.10 each	7.70
1	Do do	\$1.10	1.10
3	Silk umbrellas	\$1.50 each	4.50
	Wallpaper	\$1.00	1.00
4.3 dozen	Cow hides	\$.75 per dozen	3.25
3 packages	pins	\$2.85	2.85
177 yards	Wallham [?] muslin	12.5 cents per yard	22.12
28 yards	Savage do	11.5 cents per	3.22
412 yards	narrow do	8.25 cents per yard	33.99
434 yards	Chickopen [?] and Cabot	12.5 cents per yard	53.16
6 yards	Twilled muslin	\$.15 per yard	0.90
13.75 yards	do do	12.5 cents per yard	1.70
75 pounds	cotton yarn	27.5 cents per pound	20.62
12 pounds	do do	\$.27 per pound	3.24
32 pounds	do do	\$.28 per pound	8.96
46 pounds	do do	28.5 cents per pound	13.11
10 pounds	do do	29.5 cents per pound	2.95
134 yards	Bleached muslin	12.5 cents per yard	16.75
106 yards	do do	\$.16 per yard	16.96
60 yards	do do	\$.10 per yard	6.00
26 yards	do do	\$.18 per yard	4.68
2	Sheep sheers	37.5 each	0.75
15 pounds	Flax	\$.09 per pound	1.35
7	Bonnets	\$.50 each	3.50

Page 6 of 1838 Kincaid Inventory]

80 pounds	Venetian red	\$.06 per pound	4.80
22.5 pounds	Spanish brown	\$.06 per pound	1.35
122 pounds	Saleratus	12.5 cents per pound	12.25
7 pounds	Chocolate	\$0.16	1.12
1 box	Lace	\$33.21	33.21
35 pounds	Whiting	\$.03 per pound	1.05
13 pounds	Cream of tartar	\$.20 per pound	2.60
2	Corn basket	\$.65 each	1.30
64 pounds	Copperas	\$.04 per pound	2.56
27 pounds	Brimstone	6.5 cents per pound	1.71
1.5 pound	Chinese vermilion	\$1.25 per pound	1.87

1,271.58